
MATHS

BOOKS - MODERN PUBLICATION MATHS (KANNADA

ENGLISH)

DEFINITE INTEGRALS

Multiple Choice Questions Level I

1.  is equal to

A. 1

B. 2

C. 3

D. 4

∫
π / 4

−π / 4

dx

1 + cos 2x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Y0K8R8JL7DC6


Answer: A

Watch Video Solution

2.  is equal to :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 4

0

√1 − sin 2xdx

2√2

2(√2 + 1)

2

(√2 − 1)

3. If  then  is equal to:

A. 

∫
1

0
dt = a,

et

1 + t
∫

1

0
dt

et

(1 + t)2

a − 1 +
e

2

https://dl.doubtnut.com/l/_Y0K8R8JL7DC6
https://dl.doubtnut.com/l/_ayMzRk8nC6PQ
https://dl.doubtnut.com/l/_SGKb1QmTMxnO


B. 

C. 

D. 

Answer: B

Watch Video Solution

a + 1 −
e

2

a − 1 −
e

2

a + 1 +
e

2

4. Evaluate 

Watch Video Solution

∫
π / 4

π / 6
cos ecxdx

5.  is equal to :

A. log 2

B. 2 log 2

C. 

∫
1

− 1

dx
x3 + |x| + 1

x2 + 2|x| + 1

log 2
1

2

https://dl.doubtnut.com/l/_SGKb1QmTMxnO
https://dl.doubtnut.com/l/_FFCeK4dsEqRy
https://dl.doubtnut.com/l/_KmWGsXzeSfUK


D. 

Answer: B

Watch Video Solution

4 log 2

6.  is equal to :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
b+ c

a+ c

f(x)dx

∫
b

a

f(x − c)dx

∫
b

a

f(x + c)dx

∫
b

a

f(x)dx

∫
b− c

a− c

f(x)dx

7.  is equal to :∫
2

− 2
|x cos πx|dx

https://dl.doubtnut.com/l/_KmWGsXzeSfUK
https://dl.doubtnut.com/l/_G92pkJkSQw0P
https://dl.doubtnut.com/l/_I8KI1jhbzVOO


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8

π

4
π

2

π

1

π

8. If f and g are continuous functions in  satisfying 

, then  is

equal to :

A. 

B. 

C. 

D. .

[0, 1]

f(x) = f(a − x) and g(x) + g(a − x) = a ∫
a

0
f(x). g(x)dx

a

2

∫
a

0
f(x)dx

a

2

∫
a

0
f(x)dx

a∫
a

0
f(x)dx

https://dl.doubtnut.com/l/_I8KI1jhbzVOO
https://dl.doubtnut.com/l/_PpxDRtfvcA4z


Answer: B

Watch Video Solution

9. The value of where [x] represents the greatest integer

function, is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2π

x

[2 sinx]dx,

−
5π

3

−π

5π

3

−2π

10.  equals:Im ,n = ∫
1

0

xm(lnx)ndx

https://dl.doubtnut.com/l/_PpxDRtfvcA4z
https://dl.doubtnut.com/l/_17K2CShS9a23
https://dl.doubtnut.com/l/_B1s4oRcZ52Zk


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Im ,n− 1
n

n + 1

Im ,n− 1
−m

n + 1

Im ,n− 1
−n

m + 1

Im ,n− 1
m

n + 1

11.  equals :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Iimn→ ∞
199 + 299 + …. . + n99

n100

99

100

1

100

1

99

1

101

https://dl.doubtnut.com/l/_B1s4oRcZ52Zk
https://dl.doubtnut.com/l/_suyqwOqc1H76


12.  equals :

A. 0

B. 1

C. e

D. 2e

Answer: B

Watch Video Solution

lim
n→ ∞

n

∑
r= 1

rer/n1

n2

13. If  for all , then the

value of  is :

A. 

B. 

∫
x

e

tf(t)dt = sinx − x cos x −
x2

2
x ∈ R − [0]

f( )
π

6

−
1

2

0

https://dl.doubtnut.com/l/_suyqwOqc1H76
https://dl.doubtnut.com/l/_10sb0ktZB4cw
https://dl.doubtnut.com/l/_ny67fPyQkyAG


C. 

D. 

Answer: A

Watch Video Solution

2

3

2

14. Let . Then the real roots of the equation 

 are:

A. 

B. 

C. 

D. 0 and 1.

Answer: C

Watch Video Solution

f(x) = ∫
x

1

√2 − t2dt

x2 − f(x) = 0

±
1

√2

±
1
2

±1

https://dl.doubtnut.com/l/_ny67fPyQkyAG
https://dl.doubtnut.com/l/_TEwLEOJmrxua
https://dl.doubtnut.com/l/_h4PoHVUjCLB8


15. When , the value of , where [x] is the greatest integer

function, is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

n ∈ N ∫
n

0

[x]dx

n(n = 1)

n(n − 1)

2

n(n + 1)

2

16. If , then  equals :

A. 

B. 

C. 

D. 

F (x) = ∫
x

3
(2 + cos t)dt

d

dt
F ' ( )

π

6

3

4

1

2

3

2

2

https://dl.doubtnut.com/l/_h4PoHVUjCLB8
https://dl.doubtnut.com/l/_QfPCO7XaAXrN


Answer: C

Watch Video Solution

17. If f is odd function, then  is :

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

∫
1

− 1
(|x| + f(x)cos x)dx

18.  is :

A. 

lim
n→ ∞

n

∑
r= 1

1

n

sin(rπ)

2π

2

π

https://dl.doubtnut.com/l/_QfPCO7XaAXrN
https://dl.doubtnut.com/l/_lTxtaUSdAfrx
https://dl.doubtnut.com/l/_Rkxxfty2EVXq


B. 

C. 2

D. None of these

Answer: A

Watch Video Solution

π

2

19. Let  be two points on the curve . If the

slope of the tangent to the curve at  be , then  is:

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

(a, b) and (λ, μ) y = f(x)

(x, y) ϕ(x) ∫
λ

a

ϕ(x)dx

λ − a

μ − b

λ + μ − a − b

https://dl.doubtnut.com/l/_Rkxxfty2EVXq
https://dl.doubtnut.com/l/_RdQIWUihj4zu


20.  equals :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
e17

1
dx

π sin(π loge x)

x

−2

2

2π

2

π

21. The value of , where 

, is equal to :

A. 0

B. 1

∫
2

1

[f{g(x)}] − 1. f' {g(x)} ⋅ g' (x)dx g(1) = g(2)

https://dl.doubtnut.com/l/_RdQIWUihj4zu
https://dl.doubtnut.com/l/_Xc3mcuO8HMuW
https://dl.doubtnut.com/l/_YWErHMMyQr1d


C. 2

D. None of these

Answer: A

Watch Video Solution

22. If  satisfies the conditions of Rolle's Theorem on , then 

 equals:

A. 0

B. 1

C. 3

D. 2

Answer: A

Watch Video Solution

f(x) [1, 2]

∫
2

1
f' (x)dx

https://dl.doubtnut.com/l/_YWErHMMyQr1d
https://dl.doubtnut.com/l/_bxPHEdqzVPcx
https://dl.doubtnut.com/l/_aBOh42AvUKpZ


23. The value of the integral  is :

A. a

B. 

C. 1

D. 0

Answer: A

Watch Video Solution

∫
2a

0

f(x)

f(x) + f(2a − x)

−a

24.  is:

A. 

B. 

C. 

D. 

∫
1

− 1

|x|dx

−1

0

1

2

https://dl.doubtnut.com/l/_aBOh42AvUKpZ
https://dl.doubtnut.com/l/_cI5yUcLG11gH


Answer: C

Watch Video Solution

25.  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π / 2

0

dx
√cot x

√cot x − √tanx

π/4

π/2

π

0

26. 

A. 

∫
π / 3

π / 6
=

dx

1 + √tanx

π

12

https://dl.doubtnut.com/l/_cI5yUcLG11gH
https://dl.doubtnut.com/l/_stjMkc1YhSee
https://dl.doubtnut.com/l/_uYSNGn8PanIq


B. 

C. 

D. 

Answer: A

Watch Video Solution

π

2

π

6

π

4

27.  is :

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

−π

(1 − x2)sinx ⋅ cos2 x ⋅ dx

π −
π3

3

2π − π3

− 2π3π

3

https://dl.doubtnut.com/l/_uYSNGn8PanIq
https://dl.doubtnut.com/l/_ffSHUFj72yTV
https://dl.doubtnut.com/l/_5t6yXQEKfFNS


28.  is equal to :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
2

0
|x − 1|dx

−1

2

3

1

29. The value of  is :

A. 

B. 

C. 

D. None of these

∫
1

0

(1 + e−x2
)dx

−1

2

1 +
1

e

https://dl.doubtnut.com/l/_5t6yXQEKfFNS
https://dl.doubtnut.com/l/_D7TXZ6BruFHy


Answer: D

Watch Video Solution

30. Let  be continuous functions. Then the

value of : 

 is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f :R → R and g :R → R

∫
π / 2

−π / 2
[f(x) + f( − x)][g(x) − g( − x)]dx

π

1

−1

0

31.  is equal to∫
π / 2

0
|sinx − cos x|dx

https://dl.doubtnut.com/l/_D7TXZ6BruFHy
https://dl.doubtnut.com/l/_OGXb5VWtz22n
https://dl.doubtnut.com/l/_2YWMU2elR10C


A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

2(√2 − 1)

√2 − 1

2(√2 + 1)

32.  is equal to :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0
dx

dx

(x2 + 1)3 / 2

1

2

1

√2

1

√2

https://dl.doubtnut.com/l/_2YWMU2elR10C
https://dl.doubtnut.com/l/_Qcam7hpYMNLV


Watch Video Solution

33.  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

− 1

dx
|x + 2|

x + 2

1

2

0

−1

34. The value of the integral , for 

is :

A. 

B. 

∫
π

−π

sinmx sinnxdx m ≠ n(m, n ∈ 1)

0

π

https://dl.doubtnut.com/l/_Qcam7hpYMNLV
https://dl.doubtnut.com/l/_dC157sLJE83j
https://dl.doubtnut.com/l/_0KH4t8Crk2Yk


C. 

D. 

Answer: A

Watch Video Solution

π/2

2π

35. The value of  is :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫
π

−π

sin3 x ⋅ cos2 xdx

0

π4

4

π4

2

https://dl.doubtnut.com/l/_0KH4t8Crk2Yk
https://dl.doubtnut.com/l/_qhTqcTs5KF3A


36. If , then 

 is equal to :

A. 0

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

∫
1

0
f(x)dx = 1, ∫

1

0
xf(x)dx = a, ∫

1

0
x2f(x)dx = a2

∫
1

0
(a − x)

2
f(x)dx

2a2

4a2

37.  is equal to :

A. 3

B. 

C. 

∫
2

− 1

x|x|dx

7/3

∫
2

− 1
x2dx

https://dl.doubtnut.com/l/_JJyd652Oa6wB
https://dl.doubtnut.com/l/_Qk0SxlSlIVU8


D. None of these

Answer: A

Watch Video Solution

38.  equals :

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

lim
n→ ∞

√1 + √2 + …… + √n

n3 / 2

2/3

1

3/2

39.  is :∫
b

a

dx
logx

x

https://dl.doubtnut.com/l/_Qk0SxlSlIVU8
https://dl.doubtnut.com/l/_Labfv0mHWvpx
https://dl.doubtnut.com/l/_2QImIRj6vhsn


A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

logab log( )
b

a

log(a + b)logab

logab log( )
1

2
b

a

40. 

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫
2

0
[x2]dx =

3

8/3

5 − √2 − √3

https://dl.doubtnut.com/l/_2QImIRj6vhsn
https://dl.doubtnut.com/l/_t2blz2bKVsUE


41.  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2

1
dx

(cos)(logx)

x

sin(log 2)

cos(log 3)

π/4

1

42. If , then  is:

A. 

B. 

C. 0

f(x) = g(x)
d

dx
∫

b

a

f(x)g(x)dx

[[g(b)]2 − [g(a)]2]
1

2

[[f(b)]2 − [f(a)]2]
1

2

https://dl.doubtnut.com/l/_t2blz2bKVsUE
https://dl.doubtnut.com/l/_AAjUo9WfEczV
https://dl.doubtnut.com/l/_aqXBDIchyFvi


D. None of these

Answer: B

Watch Video Solution

43.  is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

dx
1

1 + (cot x)3

π

π/2

π/4

3π/2

https://dl.doubtnut.com/l/_aqXBDIchyFvi
https://dl.doubtnut.com/l/_1tTv1xMYVTEj


44. Let f be a function continuous on R, then

 is :

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

∫
π / 2

−π / 2
(x + sinx){f(x) + f( − x)}dx

0

π + 2

π

45.  is :

A. 

B. 

C. 

∫
√3

1

dx

√4 − x2

π/2

π/3

π/6

https://dl.doubtnut.com/l/_xauvNlVq70Xs
https://dl.doubtnut.com/l/_S3pLOXXhOd1R


D. 

Answer: C

Watch Video Solution

π/4

46.  is :

A. 8

B. 4

C. 2

D. 0

Answer: A

Watch Video Solution

∫
2π

0
√1 + sin( )dx

x

2

47.  is :∫
2

0
x2[ ]dx

x

2

https://dl.doubtnut.com/l/_S3pLOXXhOd1R
https://dl.doubtnut.com/l/_Q1V6TaMqWTyh
https://dl.doubtnut.com/l/_5npeN1ScgDIB


A. 2

B. 1

C. 

D. None of these

Answer: A

Watch Video Solution

1/2

48. If , then k is :

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

∫
1

0

=
dx

√1 + x − √x

k√2

3

https://dl.doubtnut.com/l/_5npeN1ScgDIB
https://dl.doubtnut.com/l/_C4XRnD6e492N


49.  is :

A. 

B. 

C. 

D. 0

Answer: D

Watch Video Solution

∫
π / 2

0

log(tanx)dx

∫
π / 2

0

log cot xdx

log 2
−π

2

log 2
π

2

50.  is :

A. 

B. 

C. 

∫
π / 2

0
dx

sinx + cos x

√1 + sin 2x

  or  −
π

2

π

2

π

2

−
π

2

https://dl.doubtnut.com/l/_C4XRnD6e492N
https://dl.doubtnut.com/l/_gKJvvhTMTVMy
https://dl.doubtnut.com/l/_Bafp7aJgSxjQ


D. None of these

Answer: B

Watch Video Solution

51.  is :

A. 1

B. 2

C. 0

D. None of these

Answer: C

View Text Solution

∫
π / 2

−π / 2
sin2 x log( )dx

2 − sinx

2 + sinx

52. Let , thenI = ∫
2

1

, J = ∫
2

1

dx

√1 + x2

dx

x

https://dl.doubtnut.com/l/_Bafp7aJgSxjQ
https://dl.doubtnut.com/l/_B4kW6oHgGuaO
https://dl.doubtnut.com/l/_iA6ZWXUwNMmg


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

I = J

I < J

I > J

53.  is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
1.5

0
[x2]dx

√2

2 − √2

2 + √2

https://dl.doubtnut.com/l/_iA6ZWXUwNMmg
https://dl.doubtnut.com/l/_i1sse0JuFvqC


54.  is :

A. 1

B. 0

C. log 2

D. None of these

Answer: B

Watch Video Solution

∫
1

0

log( − 1)dx
1

x

55. If  then f'(x) is

A. 

B. 

C. 

f(x) = ∫
x

0

t sin tdt,

sinx

x sinx

x cos x

https://dl.doubtnut.com/l/_i1sse0JuFvqC
https://dl.doubtnut.com/l/_7hUeV5Urwofx
https://dl.doubtnut.com/l/_kZx7FqIeLitl


D. None of these

Answer: B

Watch Video Solution

56.  is :

A. 2

B. 1

C. 0

D. 

Answer: C

Watch Video Solution

∫
2

0
[ ]dx
x

2

−1

https://dl.doubtnut.com/l/_kZx7FqIeLitl
https://dl.doubtnut.com/l/_MLCXjq5isPZD


57. If  satisfiles requirements of Rolle's theorem in  is

continuous in [1,2], then  is :

A. 1

B. 2

C. 0

D. None of these

Answer: C

Watch Video Solution

f(x) [1, 2] and f(x)

∫
2

1
f' (x)dx

58.  is :

A. 

B. 0

C. 1

lim
n→ ∞

√1 + 2√2 + 3√3 + …… + n√n

n5 / 2

∫
1

0
x√xdx

https://dl.doubtnut.com/l/_b5yHNoIfKSV4
https://dl.doubtnut.com/l/_f4MqMOzjVi87


D. None of these

Answer: A

Watch Video Solution

59.  is :

A. 0

B. 1

C. 

D. 

Answer: D

Watch Video Solution

∫
π / 2

0

cos xesin xdx

−1

e − 1

https://dl.doubtnut.com/l/_f4MqMOzjVi87
https://dl.doubtnut.com/l/_bUCswgyLHiYA


60. If  is continuous for all  and if 

 vanishes, then g(1) is:

A. 1

B. 2

C. 3

D. 

Answer: B

View Text Solution

g' ' (x) x, g(0) = g' (1) = 1

∫
1

0
xg ′

' (x)dx

−2

61. The function  satisfies the equation:

A. 

B. 

C. 

L(x) = ∫
x

1

dt

t

L(x + y) = L(x) + L(y)

L( ) = L(x) + L(Y )
x

y

L(xy) = L(x) + L(y)

https://dl.doubtnut.com/l/_M990O5s1jlHe
https://dl.doubtnut.com/l/_x920LLqHFC8x


D. None of these

Answer: C

Watch Video Solution

62.  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

− 1
|1 − x|dx

−2

0

2

4

63.  is equal to :∫
4

2

dx

√(x − 2)(4 − x)

https://dl.doubtnut.com/l/_x920LLqHFC8x
https://dl.doubtnut.com/l/_px74oigfdsUT
https://dl.doubtnut.com/l/_h0CjUaNyeNLE


A. 0

B. 

C. 

D. None of these

Answer: C

View Text Solution

π/2

π

64.  is equal to :

A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
2π

0

θ sin2 θ cos θdθ

16π

3

π

16

3π

16

https://dl.doubtnut.com/l/_h0CjUaNyeNLE
https://dl.doubtnut.com/l/_yOXqa144gUo1


65. The value of  is :

A. 3

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

− 1
(2|x| − |x|

3)dx

3

2

0

3

4

66. The value of integral  is :

A. 

B. 

C. 

∫
π / 4

−π / 4
sin− 4 xdx

8/3

−8/3

3/2

https://dl.doubtnut.com/l/_yOXqa144gUo1
https://dl.doubtnut.com/l/_wOTldvwlTRix
https://dl.doubtnut.com/l/_vwTIltmYgXiB


D. None of these

Answer: B

Watch Video Solution

67. The function  is :

A. a periodic function

B. an odd function

C. an even function

D. None of these

Answer: C

Watch Video Solution

F (x) = ∫
x

0

log( )dx
1 − x

1 + x

68.  is equal to :∫
1 / 2

0

|sinπx|dx

https://dl.doubtnut.com/l/_vwTIltmYgXiB
https://dl.doubtnut.com/l/_nRD0f4bIG7lA
https://dl.doubtnut.com/l/_Uvv17Uskst1f


A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

−π

1/x

69. The critical point of : 

 is :

A. 

B. 

C. 

D. 

Answer: A

f(x) = 1 + x + ∫
x

1
[(log t)

2
+ 2 log t]dt

1

e

π

2

π

3

π

6

https://dl.doubtnut.com/l/_Uvv17Uskst1f
https://dl.doubtnut.com/l/_UPzdHB36Y5RB


Watch Video Solution

70.  equals :

A. 2

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

0
dx

3sin x

3sin x + 3cos x

π

4

π

2

π

71. If , then  equals :

A. 

B. 

a < 0 < b ∫
b

a

dx
|x|

x

a − b

a + b

https://dl.doubtnut.com/l/_UPzdHB36Y5RB
https://dl.doubtnut.com/l/_GLPOmd0NgaTX
https://dl.doubtnut.com/l/_s6qjehxrretY


C. 

D. 

Answer: B

Watch Video Solution

b − a

−a − b

72.  is :

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫[log(logx) + (logx) − 2]dx

x log(logx)

x log(logx) + x/(logx)

x log(logx) −
x

logx

https://dl.doubtnut.com/l/_s6qjehxrretY
https://dl.doubtnut.com/l/_bOrR6GKoP2d3


73. The value of integral  is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

∫
∞

0
dx

x logx

(1 + x2)2

1

0

2

74. If , then  equals:

A. 

B. 

C. 

D. 

g(x) = ∫
x

0
cos4 tdt g(x + π)

g(x) + g(π)

g(x) − g(π)

g(x)g(π)

g(x)

g(π)

https://dl.doubtnut.com/l/_5LOBishBkYbv
https://dl.doubtnut.com/l/_seKHd0SQAccg


Answer: A

Watch Video Solution

75.  equals :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0
tan− 1(1 − x + x2)dx

log 2

log 1

2

π log 2

π

2

log 1

2

76.  is equal to :

A. 

∫
3π / 4

π / 4

dx

1 + cos x

2

https://dl.doubtnut.com/l/_seKHd0SQAccg
https://dl.doubtnut.com/l/_SBYznsAcSF32
https://dl.doubtnut.com/l/_XRxEv02zy4we


B. 

C. 

D. 

Answer: A

Watch Video Solution

−2

1/2

−1/2

77.  is :

A. 20

B. 8

C. 10

D. 18

Answer: D

Watch Video Solution

∫
10π

π

|sinx|dx

https://dl.doubtnut.com/l/_XRxEv02zy4we
https://dl.doubtnut.com/l/_d1ZVwl1QzLHb
https://dl.doubtnut.com/l/_htphTtASJceT


78.  is :

A. 

B. 

C. zero

D. 

Answer: B

Watch Video Solution

∫
π

−π

dx
2x(1 + sinx)

1 + cos2 x

π2

4

π2

π

2

79.  equals:

A. 

B. 

C. zero

D. 1

∫
π / 2

0

dx
√sinx

√sinx + √cos x

π

4

π

2

https://dl.doubtnut.com/l/_htphTtASJceT
https://dl.doubtnut.com/l/_99nJxhmLQYM2


Answer: A

Watch Video Solution

80. If , then  equals :

A. 

B. 

C. 

D. zero

Answer: B

Watch Video Solution

In = ∫
π / 4

0

tann xdx lim
n→ ∞

n[In + In− 2]

1

2

1

∞

81. If , then  is equal to :

A. 

f(a + b − x) = fx ∫
b

a

xf(x)dx

∫
b

0
f(x)dx

a + b

2

https://dl.doubtnut.com/l/_99nJxhmLQYM2
https://dl.doubtnut.com/l/_6IbM0dNe0oED
https://dl.doubtnut.com/l/_r3C4Pzd7dj42


B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
b

a

f(x)dx
b − a

2

∫
b

a

f(a + b − x)dx
a + b

2

∫
b

a

f(b − x)dx
a + b

2

82. The value of the integral  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I = ∫
1

0
x(1 − x)ndx

1

n + 2

−
1

n + 1

1

n + 2

+
1

n + 1

1

n + 2

1

n + 1

https://dl.doubtnut.com/l/_r3C4Pzd7dj42
https://dl.doubtnut.com/l/_cxJ4aEkTTPBR
https://dl.doubtnut.com/l/_9iG0W4qd6ZEe


83. If , then A is :

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

0
xf(sinx)dx = A∫

π / 2

0
f(sinx)dx

π

π

4

2π

84. The value of  is:

A. 

B. 

C. 

D. 

∫
3

− 2

∣∣1 − x2∣∣dx

28

3

14
3

7
3

1

3

https://dl.doubtnut.com/l/_9iG0W4qd6ZEe
https://dl.doubtnut.com/l/_MpsX3p7GiFmf


Answer: A

Watch Video Solution

85. The value of  is :

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

I = ∫
π / 2

0
dx

(sinx + cos x)
2

√1 + sin 2x

86.  is :

A. e

lim
n→ ∞

n

∑
r= 1

e
1

n

r
n

https://dl.doubtnut.com/l/_MpsX3p7GiFmf
https://dl.doubtnut.com/l/_VaS2jjumxz8h
https://dl.doubtnut.com/l/_bGfSws3bWJDR


B. 

C. 

D. 

Answer: B

Watch Video Solution

e − 1

1 − e

e + 1

87. The value of , is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
π

−π

dx, a > 0
cos2 x

1 + ax

π

2

aπ

2π

π

a

https://dl.doubtnut.com/l/_bGfSws3bWJDR
https://dl.doubtnut.com/l/_lmbkq3sca4Kq
https://dl.doubtnut.com/l/_O01BqXZk48kB


88. The value of the integral,  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
6

3

dx
√x

√9 − x + √x

1/2

3/2

2

1

89.  is equal to :

A. 

B. 

C. 

D. 

∫
π

0
xf(sinx)dx

π∫
π / 2

0
xf(cos x)dx

π∫
π

0
f(sinx)dx

∫
π / 2

0

f(sinx)dx
π

2

π∫
π / 2

0
f(cos x)dx

https://dl.doubtnut.com/l/_O01BqXZk48kB
https://dl.doubtnut.com/l/_OPrzq4Feg0vt


Multiple Choice Questions Level Ii

Answer: D

Watch Video Solution

90.  is equal to :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
−π / 2

− 3π / 2
[(x + π)

3
+ cos2(x + 3π)]dx

PI 4

32

+
π4

32

π

2

π

2

− 1
π

2

https://dl.doubtnut.com/l/_OPrzq4Feg0vt
https://dl.doubtnut.com/l/_CvAAwz8pN11z


1. Let , for every real number x, where [x] is integral part of

x. Then  is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = x − [x]

∫
1

− 1
f(x)dx

1

2

0

1
2

2. If , then the value of  is :

A. 

B. 

C. 

∫
x

0

f(t)dt = x + ∫
l

x

tf(t)dt f(1)

1

2

0

1

https://dl.doubtnut.com/l/_oCghjlzPp2B4
https://dl.doubtnut.com/l/_atLA4ikaJNg8


D. 

Answer: A

Watch Video Solution

−
1

2

3. If  and ,

then the constants A and B are respectively :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = A sin( ) + B, f'( ) = √2
πx

2

1

2
∫

1

0
f(x)dx =

2A

π

and
π

2

π

2

and
2

π

3

π

0 and
−4
π

and 0
4
π

https://dl.doubtnut.com/l/_atLA4ikaJNg8
https://dl.doubtnut.com/l/_9tCKVbsFfcZq


4.  equals :

A. 0

B. 

C. 

D. 

Answer: C

View Text Solution

∫
1

− 1
( + cos − 1 x)dx
x7 − 3x5 + 7x3 − x

cos2 x

π

2

π

2π

5. , whose [x] is the greatest integer function, is :

A. 

B. 

C. 

D. 

1000

∑
n= 1

∫
n

n− 1

ex− [x ]dx

1000(e − 1)

e − 1

1000

e1000 − 1
1000

e1000 − 1
e − 1

https://dl.doubtnut.com/l/_EKgxf8a2iznk
https://dl.doubtnut.com/l/_kt6RXEXF33An


Answer: A

Watch Video Solution

6. If  then the value of 

 equals :

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) =

∣
∣

∣
∣

sinx + sin 2x + sin 3x sin 2x sin 3x

3 + 4 sinx 3 4 sinx

1 + sinx sinx 1

∣
∣

∣
∣

∫
−π / 2

0
f(x)dx

1

3

2

3

3

7. , where  is a constant and , equals :lim
n→ ∞

{ }
n !

(kn)n

1
n

k ≠ 0 n ∈ N

https://dl.doubtnut.com/l/_kt6RXEXF33An
https://dl.doubtnut.com/l/_e5IH830H3b75
https://dl.doubtnut.com/l/_M4I2tSuoqBId


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ke

ke− 1

k− 1e

k− 1e− 1

8. If  is a quadratic polynomial such that

, then  equals:

A. 

B. 

C. 

D. None of these

Answer: B

f(x)

f(0) = 2, f(0) = − 3 and f' (0) = 4 ∫
1

− 1
f(x)dx

−3

16

3

0

https://dl.doubtnut.com/l/_M4I2tSuoqBId
https://dl.doubtnut.com/l/_EVsSV2g78bF8


Watch Video Solution

9.  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

lim
n→ ∞

( + + + ……. + )
n

1 + n2

n

22 + n2

n

32 + n2

n

n2 + n2

π/4

log 2

0

1

10. 

A. 

B. 

∫
π

0

=
x tanxdx

secx + cos x

π2 /4

π2 /2

https://dl.doubtnut.com/l/_EVsSV2g78bF8
https://dl.doubtnut.com/l/_HjNYNbzG2mFN
https://dl.doubtnut.com/l/_1Lsd0YqNNK4U


C. 

D. 

Answer: A

Watch Video Solution

3π2 /2

π2 /3

11. Let  be a differentiable function and , then the

value of  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f :R → R f(1) = 4

lim
x→ 1

∫
f ( x )

4
dt

2t

x − 1

8f' (1)

4' f(1)

2f' (1)

f' (1)

https://dl.doubtnut.com/l/_1Lsd0YqNNK4U
https://dl.doubtnut.com/l/_QsEb5KxYVLyf
https://dl.doubtnut.com/l/_jnWsW4EK0kmJ


12. For any integer n, the integral :  has the

value :

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

∫
π

0
ecos2

cos3(2n + 1)xdx

π

1

0

13. If , then for any +ve integer n, the value of 

 is :

A. 1

B. 2

C. 

In = ∫
π / 4

0
tann θdθ

n(In− 1 + In+ 1)

π/4

https://dl.doubtnut.com/l/_jnWsW4EK0kmJ
https://dl.doubtnut.com/l/_MlFgENriESZS


D. 

Answer: A

Watch Video Solution

π

14.  is equal to :

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

0
|sin 2πx|dx

−1

π

1

π

2

π

15. If , then  is equal to :f(x) = f(a − x) ∫
a

0

xf(x)dx

https://dl.doubtnut.com/l/_MlFgENriESZS
https://dl.doubtnut.com/l/_KlhbdZzvV32t
https://dl.doubtnut.com/l/_wTGFkVeVBAiL


A. 

B. 

C. 

D. .

Answer: C

Watch Video Solution

a∫
a

0
f(x)dx

∫
a

0
f(x)dx

a2

2

∫
a

0
f(x)dx

a

2

− ∫
a

0
f(x)dx

a

2

16. Let  then :  = …………….

A. 0

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

f(x) = [
ecos x sinx, for|x| ≤ 2

2 otherwise
∫

3

− 2
f(x)dx

https://dl.doubtnut.com/l/_wTGFkVeVBAiL
https://dl.doubtnut.com/l/_J2AzHKJFcF4v


17. The value of integral  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
e2

e− 1

∣
∣
∣

∣
∣
∣
dx

loge x

x

3/2

5/2

3

5

18. Let , where 

. Then :

A. 

B. 

g(x) = ∫
x

0

f(t)dt

≤ f(t) < 1, t ∈ [0, 1] and 0 < f(t) ≤ fort ∈ [1, 2]
1

2

1

2

− ≤ g(2) <
3

2

1

2

0 ≤ g(2) < 2

https://dl.doubtnut.com/l/_J2AzHKJFcF4v
https://dl.doubtnut.com/l/_pLsnXueyUex7
https://dl.doubtnut.com/l/_lClm07xeiIDd


C. 

D. 

Answer: B

Watch Video Solution

< g(2) ≤
3

2

5

2

2 < g(x) < 4

19. Let  and . 


If , then  equals :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f : (0, ∞) → R F (x) = ∫
x

0
f(t)dt

F(x2) = x2(1 + x) f(4)

5

4

7

4

2

https://dl.doubtnut.com/l/_lClm07xeiIDd
https://dl.doubtnut.com/l/_mnG14tigBjaY
https://dl.doubtnut.com/l/_Zm5MPjDJ0LxD


20. If , then that value of the integral : 


 in terms of  is given by :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

dt = α
1 sin t

1 + t

∫
4π

4π− 2

dt

sin t

2

4π + 2 − t
α

2α

−2α

α

−α

21. The integral  equals :

A. 

B. 

C. 

∫
1 / 2

− 1 / 2

([x] + ln( ))dx
1 + x

1 − x

−
1

2

0

1

https://dl.doubtnut.com/l/_Zm5MPjDJ0LxD
https://dl.doubtnut.com/l/_SQ0Y43UxYJ7a


D. 

Answer: A

Watch Video Solution

2ln( )
1

2

22. Let . Then the real roots of the equation 

 are :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = ∫
x

1

√2 − t2dt

x2 − f' (x) = 0

±1

±
1

√2

±
1
2

0 and 1

https://dl.doubtnut.com/l/_SQ0Y43UxYJ7a
https://dl.doubtnut.com/l/_Neh73ZRoKne6


23. Let T > 0 be a fixed real number. Suppose f is a continuous function

such that for all . If , then the

value of  is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x ∈ Rf(x + T ) = f(x) I = ∫
T

6
f(x)dx

∫
3 + 3T

3
f(2x)dx

I
3

2

2I

3I

6I

24. Let . If ,

then one of the possible values of k is :

A. 16

B. 63

F (x) = ( ), x > 0
d

dx

esin x

x
∫

4

1

esin x3

dx = F (k) − F (1)
3

x

https://dl.doubtnut.com/l/_9bWj5ek3Grr4
https://dl.doubtnut.com/l/_IaW7kraMQLOL


C. 64

D. 15

Answer: C

Watch Video Solution

25. If  


and , then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(y) = ey, g(y) = y, y > 0

F (t) = ∫
t

0
f(t − y)g(y)dy

F (t) = et − (1 + t)

F (t)tet

F (t) = te− 1

F (t) = 1 − et(1 + t)

https://dl.doubtnut.com/l/_IaW7kraMQLOL
https://dl.doubtnut.com/l/_p2jQHzB9rKUU
https://dl.doubtnut.com/l/_UxsJd7Kdob41


26. Let  be a function satisfying  with 

 be a function that satisfies . Then

the value of the integral  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) f' (x) = f(x)

f(0) = 1 and g(x) f(x) + g(x) = x2

∫
1

0
f(x)g(x)dx

e + −
e2

2

3

2

e − −
e2

2

3

2

e + +
e2

2

5

2

e − −
e2

2

5

2

27. If , find the interval in which f(x) is increasing :

A. 

B. 

C. 

f(x) = ∫
x2 + 1

x2

e− t2dt

(0, ∞)

( − ∞, 0)

( − 2, 2)

https://dl.doubtnut.com/l/_UxsJd7Kdob41
https://dl.doubtnut.com/l/_fEIVInNB4RKJ


D. No where

Answer: B

Watch Video Solution

28. If

, then  is :

A. 2

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = , I1 = ∫
f ( a )

f ( −a )
xg{x(1 − x)}dx and I2 = ∫

f ( a )

f ( −a )
g{x(1 − x

ex

1 + ex

I2

I1

−3

−1

1

https://dl.doubtnut.com/l/_fEIVInNB4RKJ
https://dl.doubtnut.com/l/_YwHoJ0wXeFCd
https://dl.doubtnut.com/l/_BDWClOhbD9g9


29. The value of the integral  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0

√ dx
1 − x

1 + x

+ 1
π

2

− 1
π

2

−1

1

30. If 

then,

A. 

B. 

C. 

D. 

I1 = ∫
1

0

2x
2
dx, I2 = ∫

1

0

2x
3
dx, I3 = ∫

2

1

2x
2
dx, I4 = ∫

2

1

2x
3
dx

I1 > I2

I2 > I1

I3 > I4

I3 = I4

https://dl.doubtnut.com/l/_BDWClOhbD9g9
https://dl.doubtnut.com/l/_dsPTAdtiBoNR


Answer: A

Watch Video Solution

31. Let  be a differentiable function having : 

 


Then  equals :

A. 36

B. 24

C. 18

D. 12

Answer: C

Watch Video Solution

F :R → R

f(2) = 6, f' (2) =
1

48

lim
x→ 2

∫
f ( x )

6

dt
4t3

x − 2

32.  equals :lim
n→ ∞

[ sec2 + sec2 + …… + sec21]
1

n2

1

n2

2

n2

4

n2

1

n

https://dl.doubtnut.com/l/_dsPTAdtiBoNR
https://dl.doubtnut.com/l/_BtGti3zpSyb6
https://dl.doubtnut.com/l/_IZ9bHm9Lu0PZ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cosec1
1

2

sec1
1

2

tan 1
1

2

tan 1

33. Let , where , . Then 

equals :

A. 0

B. 1

C. z

D. 

Answer: D

F (x) = f(x) + f( )
1

x
f(x) = ∫

x

1

dt
log t

1 + t
F (e)

1

2

https://dl.doubtnut.com/l/_IZ9bHm9Lu0PZ
https://dl.doubtnut.com/l/_7dJeRjkVWfBS


Watch Video Solution

34. The solution for x of the equation :  is :

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

∫
x

√2
=

dt

t√t2 − 1

π

2

π/2

√3
2

2√2

35. Let . Then which of the

following is true?

A. 

B. 

I = ∫
1

0

dx and J = ∫
1

0

dx
sinx

√x

cos x

√x

I > and J < 2
2

3

I > and J > 2
2

3

https://dl.doubtnut.com/l/_7dJeRjkVWfBS
https://dl.doubtnut.com/l/_nVz12wPjGOfQ
https://dl.doubtnut.com/l/_XuOjuli2GSfy


C. 

D. 

Answer: C

Watch Video Solution

I < and J < 2
2

3

I < and J > 2
2

3

36. If , then  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I(m, n) = ∫
1

0
tm(1 + t)ndt, m, n ∈ R I(m, n)

I[
m + 1

n − 1
]

n

1 + m

I[
m + 1

n − 1
]

m

n + 1

− m(1 + m)I[
m + 1

n − 1
]

2n

1 + m

− I[
m + 1

n − 1
]

2n

1 + m

n

1 + m

https://dl.doubtnut.com/l/_XuOjuli2GSfy
https://dl.doubtnut.com/l/_Sf8VtHNLiIJf


37. If  is differentiable and , then  equals

:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) ∫
t2

0

xf(x)dx = t52

5
f( )

4
25

2

5

−5

2

1

5

2

38.  is equal to :

A. 4

B. 2

C. 0

∫
0

− 2
{x3 + 3x2 + 3x + 3 + (x + 1)cos(x + 1)}dx

https://dl.doubtnut.com/l/_YJ4x7lT0erXO
https://dl.doubtnut.com/l/_enkwBqGRLpe8


D. 1

Answer: A

Watch Video Solution

39. If , then the value of  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
1

sin x

t2f(t)dt = 1 − sinx f( )
1

√3

1

√3

1

3

√3

3

https://dl.doubtnut.com/l/_enkwBqGRLpe8
https://dl.doubtnut.com/l/_mHX3RfF9XUh1


40. The value of , where [x] denotes the greatest

integer not exceeding x is :

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

∫
a

I

[x]f' (x)dx, a > 1

af(a) − {f(1) + f(2) + ……. + f([a])}

[a]f(a) − {f(1) + f(2) + ……. + f([a])}

[a]f([a]) − {f(1) + f(2) + ……. + f([a])}

af([a]) − {f(1) + f(2) + ……. + f([a])}

41. , when  denotes the greatest integer function, is

equal to :

A. 

B. 

C. 

∫
π

0

[cot x]dx [ ⋅ ]

π

2

1

−1

https://dl.doubtnut.com/l/_HrgtMpo1Xdai
https://dl.doubtnut.com/l/_g8EAh0pCno37


Latest Questions From Aieee Jee Examination

D. 

Answer: D

Watch Video Solution

−
π

2

42. Let 'f' be a non-negative function defined on the interval [0,1]. 

If  and f(0) = 0, then :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
x

0

√1 − (f' (t))
2
dt = ∫

x

0
f(t)dt, 0 ≤ x ≤ 1

f( ) < and f( ) >
1
2

1
2

1

3

1

3

f( ) > and f( ) >
1
2

1
2

1

3

1

3

f( ) < and f( ) <
1
2

1
2

1

3

1

3

f( ) > and f( ) <
1
2

1
2

1

3

1

3

https://dl.doubtnut.com/l/_g8EAh0pCno37
https://dl.doubtnut.com/l/_K1otoXbkmgwT


1. Let p(x) be a function defined on R such that , for all 

 


Then  equals :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p' (x) = p' (1 − x)

x ∈ [0, 1], p(0) = 1 and p(1) = 41.

∫
1

0

p(x)dx

√41

21

41

42

2. The value(s) of  is (are) :

A. 

B. 

∫
1

0
dx

x4(1 − x)
4

1 + x2

− π
22

7

2

105

https://dl.doubtnut.com/l/_5SViytol7stZ
https://dl.doubtnut.com/l/_eCuXd2ky78q8


C. 

D. .

Answer: A

Watch Video Solution

0

−
71
15

3π

2

3. Let f be a real valued function defined on the interval  such

that , for all  and let  be

the inverse function of f. Then  is equal to :

A. 1

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 1, 1)

e−xf(x) = 2 + ∫
x

0

√t4 + 1dt x ∈ ( − 1, 0) f − 1

(f − 1)' (2)

1

3

1
2

1

e

https://dl.doubtnut.com/l/_eCuXd2ky78q8
https://dl.doubtnut.com/l/_91sMZxLtvmhL


4. The value of  is:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
1

0

dx
8 log(1 + x)

1 + x2

π log 2

log 2
π

6

log 2
π

2

log 2

5. For  define . Then f has :

A. local maximum at 

B. local minimum at  and 

C. local minimum at  and local maximum at 

D. local maximum at  and local mininum at 

x ∈ 0, (5 ),
π

2
f(x) = ∫

x

0
√t sin tdt

π and 2π

π 2π

π 2π

π 2π

https://dl.doubtnut.com/l/_91sMZxLtvmhL
https://dl.doubtnut.com/l/_vODGITnuTTvR
https://dl.doubtnut.com/l/_k9CvaCZ1YJbb


Answer: D

Watch Video Solution

6. The value of  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
√ln 3

√ln 2
dx

xsinx2

sinx2 + sin(ln 6 − x2)

ln( )
1

4

3

2

ln( )
1

2

3

2

ln( )
3

2

ln( )
1

6

3

2

7. Let  denote the greatest integer function, then the value of 

 is :

[ ⋅ ]

∫
1.5

0

x[x2]dx

https://dl.doubtnut.com/l/_k9CvaCZ1YJbb
https://dl.doubtnut.com/l/_TINsQTcjd6gq
https://dl.doubtnut.com/l/_H1D316yLOxwC


A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

3

2

3

4

5

4

8. If  then  equals :

A. 

B. 

C. 

D. 

Answer: B::C

Watch Video Solution

g(x) = ∫
x

0
cos 4tdt, g(x + π)

g(x)

g(π)

g(x) + g(π)

g(x) − g(π)

g(x) ⋅ g(π)

https://dl.doubtnut.com/l/_H1D316yLOxwC
https://dl.doubtnut.com/l/_Den3mEbrQHIG


9. The value of the integral  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 2

−π / 2

(x2 + ln )cos xdx
π + x

π − x

0

− 4
π2

2

+ 4
π

2

π2

2

10. The intercepts on x-axis made by tangents to the curve,

, Which are parallel to the line  are equal to :

A. 

B. 

y = ∫
x

0

|t|dt, x ∈ R y = 2x

±2

±3

https://dl.doubtnut.com/l/_Den3mEbrQHIG
https://dl.doubtnut.com/l/_OSVTkoZtC7fK
https://dl.doubtnut.com/l/_n9tPS90mILkh


C. 

D. 

Answer: D

Watch Video Solution

±4

±1

11. Let  (the set of all real numbers) be a positive, non -

constant and differentiable function such that the

. Then the value of  lies in

the interval :

A. 

B. 

C. 

D. 

Answer: D

f : [ , 1] → R
1

2

f' (x) < 2f(x) and f( ) = 1
1
2

∫
1

1 / 2
f(x)dx

(2e − 1, 2e)

(e − 1, 2e − 1)

( , e − 1)
e − 1

2

(0, )
e − 1

2

https://dl.doubtnut.com/l/_n9tPS90mILkh
https://dl.doubtnut.com/l/_qIjV8ZxuHlwG


View Text Solution

12. The integral  equals :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π

0

√1 + 4 − 4 dx
sin2 x

2

sinx

2

− 4 − 4√3
2π

3

4√3 − 4

4√3 − 4 −
π

3

π − 4

13. The integral  is equal to :

A. 2

B. 4

∫
4

2
dx

logx2

logx2 + log(36 − 12x + x2)

https://dl.doubtnut.com/l/_qIjV8ZxuHlwG
https://dl.doubtnut.com/l/_uc55L6RZQ3AZ
https://dl.doubtnut.com/l/_FlZHErIB6n1j


Recent Competitive Questions

C. 1

D. 6

Answer: C

Watch Video Solution

1. The value of the integral  is :

A. 

B. 

C. 0

D. 

Answer: C

Watch Video Solution

∫
π / 2

0

(sin100 x − cos100 x)dx

100!

(100)10

1

100

π

100

https://dl.doubtnut.com/l/_FlZHErIB6n1j
https://dl.doubtnut.com/l/_4WWyuO3jFqag


2. If [x] denote the greatest integer function , then ,

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π / 6

0

d(x − [x]) =
1 − cos 2x

1 + cos 2x

+
1

√3

π

6

−
1

√3

π

6

√3 −
π

6

√3 +
π

6

3. If  denotes the greatest integer function, then : 

 =

A. 0

B. 3

[x]

4
2([x] − 1)([x] − 2)([x] − 3)([x] − 4)dx

https://dl.doubtnut.com/l/_4WWyuO3jFqag
https://dl.doubtnut.com/l/_zKj3Td9zvo4Z
https://dl.doubtnut.com/l/_ZMNVqXlOPSvZ


C. 6

D. 

Answer: A

Watch Video Solution

1

6

4. 

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
e17 / 2

1

dx =
cos(π logx)

x

−1

2

1

https://dl.doubtnut.com/l/_ZMNVqXlOPSvZ
https://dl.doubtnut.com/l/_xEdX8gqPjCuZ


5.  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

0
x(1 − x)3 / 2

dx

−
8

25

24
35

4
35

−
2

35

6. 

A. 

B. 

C. 

D. .

∫
π / 4

0
dx =

sinx + cos x

3 + sin 2x

2 log 3

log 3
1

2

log 3

log 3
1

4

https://dl.doubtnut.com/l/_3WEU1uDB8lAm
https://dl.doubtnut.com/l/_tjB4rvR7onQR


Answer: D

Watch Video Solution

7. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0
(x4 + 2x2 + 1)d(x2 + 1) =

5

3

7
3

1

3

28

15

8. If  x sin x dx and  x cos x dx, then which one of

the following is true ?

I1 = ∫
π / 2

0
I2 = ∫

π / 2

0

https://dl.doubtnut.com/l/_tjB4rvR7onQR
https://dl.doubtnut.com/l/_tE9IC9WXTRHL
https://dl.doubtnut.com/l/_xBRwc4an3jdL


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I1 = I2

I1 + I2 = 0

I1 = I2
π

2

I1 + I2 =
π

2

9. The value of  is :

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

∫
2

− 1
dx

|x|

x

https://dl.doubtnut.com/l/_xBRwc4an3jdL
https://dl.doubtnut.com/l/_svtccy6ncPOS


10. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
π

0

dx =
cos4 x

cos4 x + sin4 x

π

4

π

2

π

8

π

11. If , then 

 is equal to

A. 

B. 

f(x) = f(π + e − x) and ∫
π

e

f(x)dx =
2

e + π

∫
π

e

xf(x)dx

π + e

2

π − e

2

https://dl.doubtnut.com/l/_svtccy6ncPOS
https://dl.doubtnut.com/l/_bm40RWc9fSNN
https://dl.doubtnut.com/l/_up1rqR7034Vn


C. 

D. 

Answer: D

Watch Video Solution

π − e

1

12. The value of the integral 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
π / 4

−π / 4
log(secθ − tan θ)dθ

π

4

π

2

0

π

https://dl.doubtnut.com/l/_up1rqR7034Vn
https://dl.doubtnut.com/l/_vFGrUf5yFFpa
https://dl.doubtnut.com/l/_j4MgjDsFrzEq


13. The interval I such that  is given by :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∫
1

0

∈ I
dx

√1 + x4

(0, )
1

√2

[ , 1]
1

√2

(√2, 2)

[√2, ]
7
4

14.  =

A. 

B. 

C. 

D. 

∫
π / 2

0

log(tanx)dx

π

2

0

1

π

4

https://dl.doubtnut.com/l/_j4MgjDsFrzEq
https://dl.doubtnut.com/l/_F4OpRQYVgxNT


Answer: B

Watch Video Solution

15. The value of  dx depends on the

A. value of b

B. value of c

C. value of a

D. values of a and b

Answer: B

Watch Video Solution

∫
2

− 2
(ax3 + bx + c)

16.  is equal to

A. 

∫
π / 4

0
log( )dx

sinx + cos x

cos x

log 2
π

4

https://dl.doubtnut.com/l/_F4OpRQYVgxNT
https://dl.doubtnut.com/l/_tQ2bqHceQ155
https://dl.doubtnut.com/l/_GGXTitl7U5ib


B. 

C. 

D. 

Answer: C

Watch Video Solution

log 2
π

2

log 2
π

8

log 2

17.  is equal to

A. 2

B. 1

C. 4

D. 0

Answer: B

Watch Video Solution

∫
π / 4

−π / 4

dx

1 + cos 2x

https://dl.doubtnut.com/l/_GGXTitl7U5ib
https://dl.doubtnut.com/l/_qykAn2FOhon5


18.  =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫
1

− 1
(x27 cos x + ex)dx

2e − 1

e

e + 1

e

e −
1

e

1

e

19. The value of the integral  is :

A. 

B. 

C. 

D. 

∫
π

0

dx
x sin2n x

sin2n x + cos2n x

π2

2π2

π2

4

π2

2

https://dl.doubtnut.com/l/_xNzvmlTMOK8d
https://dl.doubtnut.com/l/_fifPBHFwz0T0


Answer: C

Watch Video Solution

20. If , then A is :

A. 0

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
π

0

xf(sinx)dx = A∫
π / 2

0

f(sinx)dx

2π

π

4

π

21. 

A. 1

∫
e

1
logxdx =

https://dl.doubtnut.com/l/_fifPBHFwz0T0
https://dl.doubtnut.com/l/_CZX7nEbtoexc
https://dl.doubtnut.com/l/_q3Oxt4AGUPe1


B. 

C. 

D. 

Answer: A

Watch Video Solution

e − 1

e + 1

0

https://dl.doubtnut.com/l/_q3Oxt4AGUPe1

